[image: ]
[bookmark: _GoBack][image: ]
image1.png
€3 Nani Ebook

E===3

) BRI ENE - EHEIRIERES :

(D1 @A AT/ 49 5L 5RITHRE T x & » 1T 392 T -
SERITHR T T @ ?
49X x=392 B
x=392+49 49 <X8=392
=8
%8 &
2 rﬁ‘& 448 ’\”\éﬁ‘{i F o T IARE BEE 16 25 -
T BT AR B R
448 x—16 73 2]
x=448+ 16 448+28=16
u =28
c ;28 %

ﬂz’<m4mLMAk¢éT’&@%»#zs SRR R TR

= A B B o IR RS R A E T BT ek ?
3% SR E x A o by
x+25=36 wE
—36x25 900+25=36
=900

% 1 900 &7
14 500 v 28

(4) BB RAE R T 8 KL B 2 B AMEE 2
JL e EEAB A K AME

A — e AfELE - 4E4E B o 4F 8000
1E ?
IR 288 A x AMERE
500 xXx=8000
x=8000+500

=16

B E
500 16=8000

B 112 | meaiRasE 128~ 1308

POOODRO

HE =@ oMK =

B SRR L s 5EE -

(1) 3647 | x=5050
x=5050 3647
= 1403
4602 —x— 1899
x—4602— 1899
—=2703
(5) 97 xx—5626
x=5626+97

=58

(1) 6216+x—74
A= 621674
—84

amm © Bl @
s AR =

2)x 777=3214
x=3214+777
=3991

) x+243=417
x—417—243
=174

x=3906+62

—63
@ +663—8
x—8 X663
—5304

mERA® 108 [ 113

- o
o

{

BRIBA B8R





image2.png
€3 Nani Ebook

BER
pyng
=) FsRADBPIHETS - WSS ¢ (R EE)
(1) # — 15+ 350 25 ah i Tip— etk o EEF 254

gy BUR IR A 5K 7

i

"l
“f
%
%

i

350 x=254
x=350 254
=96

u};
Q
o
»
¥

(2 FFXRATEHR T2 A8 - ERBAF RIS FEE R | & 4
AEFI AT H AR 6 & 7
X ARBSEE A &

-6
c .

12 4%
(3) A A7 85 3R uEAYF » ) Ar 6 BB RO T B 60 5 4% 0 T
A AR Y
BT & A~ s
xX5=285
=85+5
=17
%0175k

(4) FFFA 1240 7 FFteikkk $ 250 7 - dhikf T ?
TRk h AT x T

x+250=1240 3 1240 —x—250
=1240—250 x=1240—250
=990 =990 %1990

B (14| masRas 10 Ee

"‘s‘o

=M@ oMK =

(1) 8 241 300 2/ = (

GBI 23k 28 FH AR = (
@) 1678 A= (

D]
(5) 10 x5 = ( ) 3

(6) 7500 sz 25 = (
(7) 5600 s 25— (
®8 xFaRrR~—=(

(2) 7090 24 = ( )J

= EABUERED R - EOR(LANE

D T AR
F A E
s
> &k
) T
Ik = C )

m-22 = ¢ ) % — <

(3)259% — ( D) (1) 20.6% — ( p] =
52 B 5> 8 CRSHEE - 2EFTNP - NRET FE=IED - -2
5 SESOTHEATRRS (R ES) g

BB EX A g PR K
ZAE () 1250 980 650 %
i de 66 i 2596 off AR =
&E () R

s © BE @ ¢

WA SEE BRI

MERA®E ~ 1085 [ 115

{

B8R






 




 

